






















P(L ,T, F) = P(T ¦ L) * P(F ¦ L) * P(L)

P(L, T=1, F) = P(T=1 ¦ L) * P(F ¦ L) * P(L)

P(L, do(T=1), F)
 = P(do(T=1) ¦ L) * P(F ¦ L) * P(L)
 = P(F ¦ L) * P(L)



P(F=1 ¦ T=1)
= P(F=1 ¦ L=1) * P(L=1 ¦ T=1) + P(F=1 ¦ L=0) * P(L=0 ¦ T=1)
= 0.4 * 0.9 + 0.1 * 0.1
= 0.37

P(L=1 ¦ T=1)およびP(L=0 ¦ T=1)はベイズの法則で計算する：
P(L=1 ¦ T=1) = P(T=1 ¦ L=1) * P(L=1) / { P(T=1 ¦ L=1) * P(L=1) + P(T=1 ¦ L=0) * P(L=0) }

P(L=0 ¦ T=1) = P(T=1 ¦ L=0) * P(L=0) / { P(T=1 ¦ L=1) * P(L=1) + P(T=1 ¦ L=0) * P(L=0) }

P(F=1 ¦ do(T=1))
= P(F=1 ¦ L=1) * P(L=1 ｜do(T=1)) + P(F=1 ¦ L=0) * P(L=0 ｜do(T=1))
= P(F=1 ¦ L=1) * P(L=1) + P(F=1 ¦ L=0) * P(L=0)
= 0.4 * 0.5 + 0.1 * 0.5
= 0.25

P(F=1 ¦ L=1) = 1
P(T=1 ¦ L=1) = 1
P(F=1, T=1 ¦ L=1) = P(F=1 ¦ L=1) * P(T=1 ¦ L=1) = 1 



P(F=1 ¦ T=1)
= P(F=1 ¦ L=1) * P(L=1 ¦ T=1) + P(F=1 ¦ L=0) * P(L=0 ¦ T=1)
= 1 * 1 + 0 * 0
= 1

P(F=1 ¦ do(T=1))
= P(F=1 ¦ L=1) * P(L=1 ¦ do(T=1)) + P(F=1 ¦ L=0) * P(L=0 ¦ do(T=1))
= P(F=1 ¦ L=1) * P(L=1) + P(F=1 ¦ L=0) * P(L=0)
= 1 * p + 0 * (1-p)
= p < 1

P(L, T,  F) = P(F ¦ L) * P(L ¦ T) * P(T)

P(L, T=1, F) = P(F ¦ L) * P(L ¦ T=1) * P(T=1)

P(L, do(T=1), F) 
= P(F ¦ L) * P(L ¦ do(T=1)) * P(do(T=1))
= P(F ¦ L) * P(L ¦ T=1)



P(F=1 ¦ T=1)
= P(F=1 ¦ L=1) * P(L=1 ¦ T=1) + P(F=1 ¦ L=0) * P(L=0 ¦ T=1)
= 1 * 1 + 0 * 0
= 1

P(F=1 ¦ do(T=1))
= P(F=1 ¦ L=1) * P(L=1 ¦ T=1)  + P(F=1 ¦ L=0) * P(L=0 ¦ T=1)
= 1 * 1 + 0 * 0
= 1



P(T=1, F=1) = 0
P(T=1) * P(F=1) = 1








